% 36EJUDSFILBRA VAR R—YiEE # 1T &
B o TE RN A
7:5000 1) f&REEE.FHLL 8:00 & B A5
8:00 2) B 15
8:00 3) EFZfT1BA BFZM1ET ~8:30
8:00 4) 7AF7A—T> 8:00~8:20
8:30 5) B
8 : 50 6) EFES
9:00 7) WA
11 :00  3) EFZ{I2BH1A EFZF28T ~11:30
B o |EBE|HEEA fEE | [ B |[Hi54A % (e EehE
9 : 0.00 R4V |7 U Y=7D#REL (WT 1F:#| 16 |88 2] 2
9 : 7.12 |24y |DSCJI5#RE WT 1%3®| 5 |5 11 2
9 : 11.18 |24V |DSCU4 #REH WT (SRR 12 |12, 1] 2
9 :15.04 |4V [7'IUFY-7D#RER (WT  [#3REE 12 1 2
9 : 18.90 (24 |DSCJUS#RER WT  [GRBsEk| 5 1] 2
9 : 24.26 |24y |DSCJIA#RER WT  [GRBsE| 6 1] 2
9 :29.62 [R4V (7N V-TD#RER |WT  [SREsEk| 6 1] 2
9 :34.98 A B—\L
9 :44.98 |77V |DSCJI5#REL CR 1%:&| 6 |6 1l 2
9 :49.04 |77V |DSCJ4 #R L CR R 8 |8 1l 2
9 :52.90 |57V |9 70k Y=7D#REL [CR 1FE| 6 |6 1 2
9 :56.96 |77V |DSCJI5#REL CR REGE 6 1 2
10 : 2.32 |77 [DSCJU4 R CR RIS 6 1l 2
10 : 7.68 |37V |30 Y=7D#REL |CR RIEE| 6 1 2
10 : 13.04 J5S, J4S, GDSEHE R /2 F—/VL
10 : 29.04 |57V [DSCJ CH#REk SR 1%:&| 14 |77 2l 2
10 : 36.16 |37 |[DSCJ 1 #REk SR R 9 1 2
10 : 40.02 |77V |SMLY=7B#kEL |CRP_ [1F:#| 6 |6 11 3
10 : 45.61 |77 [DSCJ 3K CR R 12 |12, 1l 2
10 : 49.67 |77 [DSCJ CH#Rk SCR _|#EREE( 10 1 3
10 : 54.86 |37 |DSCJ 1#REk SR RREE| 6 1 2
10 : 60.22 |77V |3SMLY-7B#kEL |CRP  [RESEL 6 1 3
11 : 7.16 |37 |DSCJ 3Rk CR RIEE 6 1 2
11 : 12,52 |37 [DSCJ CH#REk SCR__|iRB5EL| 6 1] 3
11 :19.46 J5L, J4L, GDLERE K, 124—/3\L
11 :34.46 |77 [DSCJ DR EL CP 1%:&| 26 1998 3] 2
11 : 44.64 |57 |DSCJ 24Kk cP RS 10 |10, 1 2
11 : 4850 |77 [DSCJ AfRiE SCRPJ |ZEREE 7 |7, 1l 5
11 : 56.35 |57~ |DSCJ Dk cP 2%&| 18 |99 1 2
11 : 6041 |77V (7700 V=TARREE [SR 1%:%&| 5 |5 1| 2
12 . 4.27 |57V |DSCJ 24k CP REEE| 6 1 2
12 : 9.63 |57 [J1LMBLJ3L JCLEK &=
12 : 20.63 |57V |DSCJ DRk cP ERRE| 12 1 2
12 :24.99 |77V |9 500 V=T ARREE [SR REGE 5 1 2
12 :30.35 |57V |DSCJ AfREk SCRPJ |iRikE| 6 1] 5
12 : 50.45 |77 [DSCJ DR EL CP REGE 6 1 2
12 : 55.81 TEVARL—23(DSCJ ASRELEIE)
13 : 0.81 J2L,GAL,JAL JDLKRE K
13 : 11.81 BRIKH




B s BRI BE% LA e S e e
13 : 30.81 |A%Y |DSCJ 1 #REk TF 1% | 25 (988 3] 2
13 : 40.99 |24y [DSCJ CH#kk TF 1% | 32 [11,11,10 3] 2
13 : 51.17 |A%Y |DSCJ 3#RKEL WT 1%#E| 20 [10,10 2l 2
13 : 58.29 |4y |DSCJ 1#REk TF 2F%:# | 18 |99 2| 2
14 : 541 |24y [DSCJ CH#Rk TF 2F#E | 24 1212 2l 2
14 : 12,53 |24 [DSCJ 3Rk WT HEREB| 12 1 2
14 :16.39 |24 |3MAY-7BEREL  (WTQ  |[1F:#E[ 6 |6, 11 3
14 : 21.58 |24 |DSCJ 1#REE TF HEREB| 12 1 2
14 : 25.44 |4y |DSCJ CH#k WTF  [SE7RBS| 12 11 3
14 : 30.63 |24 |DSCJ 3#RELK WT REGE| 6 1 2
14 :35.99 |A4Y |3MAY-TBEREL  (WTQ  |IREGEL 6 1] 3
14 : 42.93 |24 |DSCJ 1#REEL TF RIS 6 1l 2
14 : 48.29 |24y |DSCJ CH#k WTF  |JREEER| 6 1] 3
14 :55.23 A2 B—\)L

15 : 10.23 |A4Y [DSCJ D#kEL wQ 1% | 33 [11,11,11 3] 2
15 : 20.41 |24 [DSCJ 24k wQ 1%%® | 20 [1010 2l 2
15 : 27.53 |24y [DSCJ AfRE WTFQ |1F#E| 13 |76 2l 4
15 : 40.77 |24y [DSCJ D#kEL wQ 2% | 24 |1212 2l 2
15 : 47.89 A4V |9 UMY TARRER |TF 1$%E| 5 |5 11 2
15 : 51.75 |24 [DSCJ 24K wQ R 12 1 2
15 : 55.61 |24y |DSCJ ARk WTVFQ |#iREE| 10 11 5
16 : 3.46 |24y [DSCJ DRk wQ R 12 1l 2
16 : 7.32 |A4Y |J3S,MBS,J1S JCSFEKE K

16 : 18.32 |A4Y |V FUMY=FARRES |TF REEE 5 1] 2
16 : 23.68 |A%Y |DSCJ 24REk wQ REGE 6 1 2
16 : 29.04 |24y |DSCJ ARk WTVFQ RS 6 1] 5
16 : 49.14 |A4Y [DSCJ D#REL wQ REGE 6 1 2
16 : 54.50 TEVAR =23V (IURE FAEEERE)

16 : 59.50 GAS,J2S,JAS JDSEK &=

17 : 10.50 HEN =TT

17 : 40.50 B 15




